T E WA

2068 g /5
JIME D P L - FRIEE
Tl (@)
[5-312[2 | = Gxa+ 30 +1x0
- = lo+3r0 = A2y
RoR
(¥ [2 [3 0 -2) Fxg 2% 0 2x(-2) 6 © “4—]
= = 13%% 3xo x| 5|79 0 |
> L5x% Cxo Lx(2) | |15 o -toly
: 17 o] Ty (5 4 gl
(c) |t -t O | X 1=y (=24 0vlo Axe —Ax(-Ntox2
2 -1 \—3 -1 = 2 CE "D,zxo Y-+ 1x2
10 A ‘2_1*2 s LOX A+ 1X(73)-2 x(-2), OXO+1 x(=1)-2%2
-3 3
Ll ~5_1'///
(d)
fao-4 471 2 —31: 25 +0x (=X (5)+1 X0
-1 77 ¥ 2 X240r T =14 (3) HIXEY)
-5 %2 | 2x(Egpoxp -2ty
5 -1 1 | i
=7 Lt -71y

=2 -1 [ b\
-> | = 102
O W_’ [b;/‘o\'b

1
Mo Ers ot k3 A3 R



2/3
21 720 % 385 217,
FLF o Yo G ke e 2l

A:T 0 {a bN’ a b W
-C/QJC o\f{o d—%bg

BiEaiTrodBEE: 11233,

l:m b J‘[OL 0 ]Iw b/@]_ DL
0 d-zi’b \_o d—o%b L0
1 t o0 — e

o b [ 10 [l o I ba
SRR C
c %% 1 Jlod-gbllo 1]/

4]
[1—20“007 [1~zo1ﬁ00] [1 20|t 00
\101010,50—21}110%021110
{ =1 0 0o 0 1 | 6 1 0 1 -1 0 1 01/2*—1/2‘/2
1 -2 0/ 10 o 1t 0o ol-t o 2 10102']
%\io-z ol 2 0—2}—\{07_0 10—11-{0 ol-1 o0 1]
o o Val-lh 12 1 5o Veldpth 11 Lloo tl-112 ]

[5] %147 0Pl EeE>Ts
Qubu =1
Oy brz =0 :‘j"é:‘) 19)2 = 513 =0
ﬁ“bqu :O

Aap boyy + Qan b =1

72 m?ﬁﬁf/%”% %C{z\b”"‘all\ﬂzl =0
C(7—l b‘l; + all b7_3 =0 :‘l’\_}:v 191% =0



33

WME R, 433 kb et T3 BRI R

[)9,[ o 0 w
bl\ by 0
V%( 32 b;g - /V

[6] 3% 7R 2B %17, SRAY QL 3BRAMLH.
nw-v =1
%—2\)&2\7:—1 Vi
$od = FLEA2) afAF e ho ey, JTH 2425 17 A4
53 RBAoBER
U—v = 4
H#E AR By etey

(M) PsgA»z Blhde P13k

2
Py Wi aF 120 2%
G G

& 1 o oto JJlabe] [de
H\):I1 O o] ’(100][de{1}:f&bcl
00 1dy Loogllghil o ki

]fwl: 2, PeZvioldinizes#®az,
NI SR SRR - B NPT
F UG FLiTp LI T
N=2m ac %

Pl = ()" I =1y,

N=2m+16cT

241 2m

pr=T

()
=
X
9
1
=
X
):9
]
=0
N



